Prisoner's dilemma

John and Pete have committed a crime together. Now they have been arrested and they are facing a jail sentence. They cannot communicate with each other, and the interrogating policemen make an offer to both.
* If both of them remain silent (cooperate): both will get 1 year in prison

* If both of them betray the other one: both will get 3 years

* If John betrays Pete (exposes him) & Pete remains silent: John will be free and Pete gets 5 years


...and vice versa

John thinks now, not trusting Pete very well:

If Pete betrays me and exposes me, I'd better expose him as well: I'll get 3 years instead of 5

If Pete remains silent, I'd better expose him anyway: I'll be freed and Pete will get 5 years

From John's self-rational viewpoint, betrayal is the more advantageous option, no matter what Pete will choose.

From the viewpoint of both, cooperation would be the most beneficial solution.

[image: image1.jpg]Prisoner A

Confess

Keep
Quiet

Prisoner B

Confess

Keep Quiet

Both go to jail for
5 years

Prisoner B goes to
jail for 10 years,
Prisoner A
goes free

Prisoner A goes to
jail for 10 years
Prisoner B
goes free

Both go to jail for
1 year




  

[image: image2.jpg]



Tragedy of the commons

From one herder's viewpoint:

1. If I add one sheep to the common graze, I will get more wool and milk. I will get 100% of the benefits from adding one sheep.

2. This will cause some damage to the commons graze, but the damage is shared; I will receive only 10% of the damage caused by the extra sheep.

3. Therefore, it is fully rational for me to add one sheep to the common graze.

